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yogurt; on Tuesday he sold 38
cups, on Wednesday he sold
34 cups. How many cups of
yogurt did Isaiah sell on

Thursday?
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rules descrlbes the data? 16 10

22 13
8 6

[=)| subiract by 4 then mulfiply by 1 multiply by 2 and add 2
divide by 2hen add 2 divide by 3 then add 4

12-2=6+2=28 16-2=8+2=10
22+ 2= 1T+2= 13 8+2=4+2=6
divide by 2 then add 2
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strawberries on Monday, ek S g |\
18 on Tuesday, 22 on
Wednesday, and 28 on
Thursday. If this pattern
confinues, how many
strawberries will Brooke
pick on Friday?
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